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(3O wHmIb %rﬁuﬂw cuifl / Tamil & English Version )

[ Qs wHluCueser : 90

Time Allowed : 3.00 Hours | [ Maximum Marks : 90

SiDleyenrser : (1)

Instructions :

GBI :

Note :

(i)

(2)

1)

Sloagg ellamsseEnn sflwrs ufeurd o drengr ereugemen sAlUMTESIE
Qamerarayid. SiFstILSallr Gampud®muer, Siemps sarsrafliiumearfib
2 L angwrssd QgfeSlssea. \
feod g smUY owlea  wLEGW Gr@g]mg_,rj)@m"}
23 5CsMgHeusnGL Lwau(sSs Cauam®bd. ULBGH uareusn(s |
Cuenéled LweTLI(HSSeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
U@ - 1/ PART - 1
Slenensg ellammsaEns@h ellanL weaflEsea . 20x1=20

Car@&suulHerar pren@ wrhn, e safle Bsayb ghymLw
dlenLanws Caipls®sgs GO BLar el amaryn Ceirsg
T (LPEEYLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.

[ &wiys / Turn over
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1. MPC=05 arafler Quamddufen iy
(1) 0.2 ()2 (@) 20 (P) 1/2

If the MPC is 0.5, the value of multiplier is

(@ 0.2 b) 2 () 20 (d 1/2
2. Gasaelgsrer apebd yeraf efeurid Syl Ul Lme il

(=) QauafGQupp efaupd () padflena aileurd

(@) Osr@ssuulL efeurd () @remLmbplene efleugtd

The data collected by questionnaires are
(@) Published data (b) Primary data

() Grouped data (d) Secondary data

3. Epemaaepmer org Cpieps el ?
(=1) euqmomen euffl (<) sevmed cuffl
(@) Gseveu aufl (/) &g eufl

Which of the following is a direct tax ?

(a) Income tax (b) Excise duty

(c) Service tax ' (d) Customs duty

4. eSlepaveurd Qugieurs e whd Curps aoUBauS :

(1) uemTeUTLLID (=) Sy LITeI&EaID

() 2w uemei&sd

(@) Hgmer LenTei&&LD

When the prices rise slowly, we call it as :

(a) deflation (b) galloping inflation

(c) mild inflation (d) hyper inflation
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Cg.erib. Sanev QuBeTTETTEHDEG Sefss Lkisallou GHLIDS.

(<=1) epegend (@) prsefer Qedeuld
(8) Qurgy A () Qurgs GCamur®
Indicate the contribution of J.M. Keynes to Economics :

(a) Capital (b) Wealth of Nations

(c) Public Finance (d) General Theory

"EOHMIFGPO dewdur@seien urgismiy o4 THURSSILLL 2pe&TH

(<=1) 1999 (=) 1997 (@) 1996 (/) 1998
“Protection of the Environment Operations Act” was set up in
(@) 1999 (b) 1997 (c) 1996 (d) 1998

B8 Gursdlen (NITI Aayog) < hifle elfleunssid ?
(<21) National Institution to Transform India

(<24,) National Institute of Transport India

(@) National Institution for Transforming India

(F) National Institute for Trade in India

Expansion of NITI Aayog :

(a) National Institution to Transform India

(b) National Institute of Transport India

(c) National Institution for Transforming India

(d) National Institute for Trade in India

AW verenm () eurarilads CaTlur® eTHem g liLienl ule) BSS ?
(21) puYwE CFwey | (<=3) (_Lp@anmé Qeevay

(@) 2-husHs smrefs Cariur® () @eupmier Grgum.uﬂsbma)

Which of the following is a Modern theory of International Trade ?

(@) Comparative cost (b) Absolute cost |

(c) Factor Endowment theory (d) None of these

8347
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Qumsdlulier wHiy
(@) 1/(1-MPQ) () 1/MPS (@) 1/MPC (] Jetrioparig)
The value of multiplier is
(@) 1/(1-MPC) (b) 1/MPS (@ 1/MPC (d) -Borx{pyand ()
&y Hlow ofHswrs FsQeuaflufe sremrliLBLD.
(@) L @pdu (=) BHRIDS
\(Q) fpgl - shes (rr) Gupsadiw S|DITSFILD
‘Alkali Soils are predominantly located in the _______ plains.
(;1 North-Indian (b) Gangetic
(& \ IndusGaigs ~ (d) Alltheabove
“Gu&Gym” (Macro) erenm Qgrédened aﬂ@a;uu@gﬁuimfr wirr ?
(<=1) Gg.etibd. Sevra (<=3) ;rrre'r.sm’f M &a
(2)) smréd s () L1 evLblG

12.

Who coined the word ‘“Macro” ?
(a) J.M. Keynes ' (b) Ragnar Frisch
(c) Karl Marx (d) Adam Smith

Epargnb hss FHLLb, Gmmrrsmmmmmu_'m eﬁllﬂrmu Glun@mrrg,ngﬁmg,u_lm
eWWILONEs: QETaRTLg) ?

(=) smpHwg HLib (<=1) wéser Hib

(@) eflevCGougeuruiur S b () umbGu @L'_L_Lh.

Which of th_el following plan has focused on the agriculture and rura] economy ?
(@) Gandhian plan (b) People’s plan

(c) Vishveshwarayya plan (d) Bombay plan
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PSSO LUHDISE@GenD =

(=1) Qurgg Qgeey-Qwrgs eurea,

() FHUuppTEGOD - ully. Qagidgsn

() Qurs eumeumi Qeevellanid —Qrgs euHeTLl UFaEET

(F) eupey Geways AL upPrEGoD - SFHer SIEEMS SLETHEHD

e GurmULsEHLwD
Primary Deficit (PD) =

(@) Total Expenditure — Total Revenue

(b) Fiscal Deficit—Interest Payment

(c) Total Revenue Expenditure — Total Revenue Receipts

(d) Budget Deficit—Government Market borrowings and liabilities

2016 -@e ey BésD THASHS ALY LaTRSEEEE THUGSSILL LS ?
(<=1) T 500 WP T 1000 (<2) T 200 wHmID T 500 |
(&) T 1000 wHmid T 2000 () (<=1) wHmbd (<=4,)

2016 Demonetization of currency includes denominations of :

(a) ¥ 500 and T 1000 (b) 200 and ¥ 500

(© 1000 and T 2000 (d) Both (a) and (b)

Catmaamiiy upi Ggreatenind Cam_ur e ewLs SHmES TaTg)

(21) Gombs G5 efenerey 6l () sy 694

(@) Gpma o8 (7 psie 8
The core of the classical theory of employmentis | J j

(@) Law of Diminishing Returns (b) Law of Markets

(¢) Law of Demand | (d) Law of Cbnsumption

Uemem (B Liewr HlElwib LOMBHITL G 2 (HeUNESHLILIL L g).

(1) A6 e (=) ureT @i -

(8) Asliy _, (r)  Ggmamm

International Monetary Fund was an outcome of /
(@) Bretton Woods Conference (b) Pandung Conference /
(c) Singapore Conference (d) Doha Conference /

[ Hmpliys / Tufn over
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17. @pgenenid Glenp erendl
(@) SLLLD s Ha0 (p) cuanflaid
(8) Qgmfle () Geuarraimenio
Primary sector is
(@) Construction (b) Trade
(¢) Industry (d) Agriculture

18.

20.

g

.s.li.__@iu_lsi)‘mrn'_@é Qeusgs swhlaas smse Spsasramueppled erae ?

('@5’1) ww i Siea| smTEE (=) QPSS EERTE®S

(@)‘ BLUY S@TEES () Cupsafliu Sie@earsgb
Con{ppnents of Balance of Payments of a country include the : |
(a) Official Settlement account (b) Capital account
(c) Current account (d) All of the above
gniré 2 &8 wrer@H ;gbah(Ba@sGiasn@@mg) BenL_CLmlmg).
(=1) 2 ()5 s ) 8 () 4
% SAARC meets once in years. |
\a) 2 ®) 5 © 3 @ 4

k!

purr?r@ auridl erl@uUmpg L rosaELLLLg) ?

(1) g 1982 (<) 9me 1992

(@) 9o 1962 (F) g9 1972

NABARD was started 'in

(a) July 1982 (b) July 1992
A(c) July 1962 (d) July 1972

\

._J\
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L@ - 11/ PART - II

Py : eemauGugd e elamssEpss el wallssayb. eflerr eram 30 - &
sLLmuwns eSenwell&seLb. 7x2=14

Note: Answer any seven questions. Question No. 30 is Compulsory.
21. ueeisEL TEID LFSH@arn Gumuujgé;assql.b.

Define the term ‘Inflation’.

22. BB uLISIS®S cUaTUNESaD.
Define National Income.

23. gpGurgeter GYld 6T GapUkpETar ETTETEMSS H(H.

Give reasons for Labour retrenchment at present situation.

24. “m&iey BTLL D" eT@Imme) eresan ?

What is meant by “Propensity to Consume” ?

25. @mé oo Cafliy prirb (MPS) - euerumIEEaLD.
Define Marginal Propensity to Save (MPS).

26. LIGRTEUMLL LD GTENMTEY GTedem ?

What is Deflation ?

27. L6 2 (HEUTEHELD GTEIDITE) Greven ?

What is Credit Creation ?

28. cuafls aiggHenan cuenWMIGEEALD.,

Define Terms of Trade.

A [ Hmuys / Turn over
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29. RIS, GrﬁlGurr@gl EMTEH HEWMID DIGHIEIVHD g]GUéK&IJLJL:-L-Q' ?
When and where was SAARC Secretariat established ?

30. Gadlw wrHi #QDOHBH Sigiuasid (NSSO) updl eT(9sHIs.

Write about National Sample Survey Office (NSSO).

L@ - 111/ PART - 111

GOy : semauGuend gup damsseEnse elmLwaflssalb. Qerm erawr 40 -5

sLLmuwons edeLwelldEseab.

Note : Answer any seven questions. Question No. 40 is Compulsory.

31. Qummerrgryr wepsefer cuamssmear GHUIIDS.

Describe the types of Economic systems.

32. geeals eumwrand UHM m dn GHIY aoTs.

Write a short note on Per Capité Income.

33. SpsrerTuaeupPnE HHESLIE NenLen CT(PSIs.
() uvmeusre Couemeaulerenn
(i) e remumgeoer Cousmauleareno
(i) &HComi Geuemeuleanento
Give short answer to the following.
(i) Seasonal Unemployment
(ii) Frictional Unemployment

(i) Educated Unemployment

34. p@&HEGL, QUEBEAEGD 2 ater CaupurBseer ofleréEs.
Mention the differences between Accelerator and Multiplier effect.

35. Gsoeu @WUILU Uameissd, Cewa| 2 bg) Lameissd <o duaupenp oSaréi@s.
Explain Demand-Pull and Cost Push Inflation.

www.freetnbooks.com | FREETNBOOKS

7x3=21



www.freetnbooks.com

9 8347
36. QeweuLrg Cerdg upPl eNeuflésey. 3
Describe about Non-Performing Asset.
37. spare rfler ueflser wireneu ?
What are the functions of Modern State ?
38. Uemeumd efleurmisEnée L elwsssdmans sra.
14, 22, 9, 15, 20, 17, 12, 11. }
Find the Standard Deviation of the following data : :
14, 22, 9, 15, 20, 17, 12, 11. |
39. &mhm wrsupgaler LG aumssmen eleTsEs.
Explain the different types of air pollution.
40. yeraflllweler Genpur@aear gGsaid epeadaasd @GHLARHE.
Mention any three Limitations of Statistics.
U@ - IV / PART - IV
GO : Sjemensg) efamss@ErsEn el weldsa)b. 7x5=35

Note : Answer all the questions.

41. () BLEUIGEMESET &Lq.llll.lml_uﬁl@ @@ QurmearrsTy ol Qeududeams
afleun.

V0G|

(=) veCaumy cuengwmer S LBl e cuenssear edeunl.

(a) Illustrate the functioning of an economy based on its activities.
OR
(b) Describe different types of Planning.

[ wiys / Turn over
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44.

45.

[>]

www.freetnbooks.com

10

(<=1) BB cuplomand SeTéSL i o emer Hésaadr wWroe ?
{6060
(=) Opretaws Gsriur®, &ars Gsriur® AwadPDE GeLare
Caugur@sener cllatéEs.
(@) What are the difficulties involved in the measurement of National Income ?
OR

(b) Explain the differences between Classical theory and Keyne’s theory.

(1) posarsdar @niHo 2 Husd HnasEn (MEC) PSL g6 @mdlfleoe 2 HuUSE
SHoené@b (MEI) e dter Caumur@aer wirened ?
{6060
(<=1) @6l SoQasflen L <jerays Cam_ur iy emar elleTésEs.

(a) What are the differences between Marginal Efficiency of Capital (MEC) and Marginal

Efficiency of Investment (MEI) ?
OR
(b) Ilustrate Irving Fisher’s Quantity theory of Money.

(31) uewrellwed Qsreransuien Crréasmser wWrame ? oSland@s.
S0
(<) ydw venrenm () eurenflss Cﬁésrrl'_urruq,mm afleurdl&sayLb.
(a) What are the objectives of Monetary Policy ? Explain.
OR
(b) Discuss the Modern Theory of International Trade.

(1) GO eT(p8s: (i) &mé (i) Cf&e
S{VEVF)
(=) 2paF Qeaey dafluugnsrer sTreRTRSET LT ?
(@ Writeanoteon: (i) SAARC (i) BRICS
OR

(b) What are the reasons for the recent growth in Public Expenditure ?
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(1) aupey Qewvayd Hi e odrer LS LPDPTEGDDEMET 6lleTs G5
SIVEVG)
(<) Up ellenemeyser eremp smsHeanb Sigen cuasLTRamanb efldréEs.
(@) Describe the various types of deficit in budget.
OR

(b) Explain the concepts of externality and its classification.

(=) Qurmerngry Semeneuudwellen Crrésmisdr wrene ?
3160605

(=) Yemeumd eflourmisEns@ srie Gwisallar e LpAsTLiys Asellaeans
SeHTLMs.

CoemeuX: | 23 | 27 | 28 | 29 | 30 | 31 | 33 | 35 | 36 | 39
elmuenewr Y:| 18 | 22 | 23 [ 24 | 25 | 26 | 28 | 29 | 30 | 32

(@) What are the objectives of Econometrics ?

OR
(b) Calculate the Karl Pearson’s Correlation Co-efficient for the following data.

Demandof | o | o7 | 58 | 29 | 3031 |33 |35 36 | 39
Product X :
Sale of ' ;
18 22 23 | 24 25 26 28 29 | 30 32
Product Y: .

-000-
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